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1
Simplify, remove the parentheses by multiplying out and combine like terms.
a) yz + (z +y)(z —y) b) 2® + (z + 8)° ¢) (a+14)* — @

d) (7 — z)* — 22 e) (134 )(13 — z) — 22 f) 22 + (y + 2)(y — x)
g) (7—a)* —a? h) (a+15)(a — 15) — 15a i) 12a + (12 — a)?

j) (& +y) (@ —y) —2?

2)

Simplify, remove the parentheses by multiplying out and combine like terms.

a) (a+0)*-6 b) (19 — )% - 4 ¢) (b—a)*-6 d) 8(2 + a)?

o (z+y)?-9  Dy+a)3 g (e-16°-8 b (y+a)°-9
D) (b+a)?-8 HE2—x)?26

3)

Simplify, remove the parentheses by multiplying out and combine like terms.

a) ab+ (b — a)® b) (x —y)’x ) (b—a)?-4 d) (184 a)* -6
e) (h+a)>—4 f) 22 + (74 z)? g) (a+b)* + ba h) 9+ (17 + z)?
i) (a—b)+4 i) (b—a)?®-8

4)

Simplify, remove the parentheses by multiplying out and combine like terms. Use the
binomic formulas.

a) (z+1y)?-5 b) (a+4)% +2 ¢) (a+b)*+2 d) 34 (z +9)?
¢) 3+ (y + z)* £) 9(b+ a)? g) 7+ (a + 15)* h) (b+a)®-8
i) 3+ (z +11)2 i) (b+a)* =7

Good Luck!
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